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Guess Paper – 2007
Class – X

Mathematics

GRADE 10                                                                           


MARKS: 80   

Time allowed: 3 hours       

General Instructions:-

· All questions are compulsory

· The question paper consists of 25 question divided into three sections A, B and C. Section A contains 7 question of  2 marks each,  Section B is 12 questions of 3 marks each and Section C is of 6 questions of 5 marks each..

· There is no overall choice. However, internal choice has been provided in two  questions  in each section.
· In question on construction, the drawing should be neat and exactly as per the given measurements

· Use of calculators is not permitted. However you may ask for mathematical tables.

Section A

1. Solve the following system of equations 
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Solve    for  
[image: image2.wmf]x

   and 
[image: image3.wmf]y

    
[image: image4.wmf]6

5

6

=

-

=

+

x

y

xy

y

x

xy


2. A bag contains 5 red balls and some blue balls. If the probability of drawing a blue ball is double that of the red ball find the number of blue balls in the bag.
3. [image: image1.wmf]10
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PQ and RS are two parallel chords of a circle and the lines RP and SQ meet at O on producing. Prove that OP = OQ

OR
The perimeters of two similar triangles are 36 cm and 48 cm respectively. If one side of the first     triangle is 9 cm. What is the corresponding side of the other triangle?

4. Reduce to the lowest terms:
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5. Solve the quadratic equation: 
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6. Which term of the A.P: 3,  15,  27,  39,  .. will be 132 more than the  5th term
7. A mixi is available for Rs 1500 cash payment or for Rs 360 cash down payment followed by three equal monthly instalments of Rs 390 each. Compute the rate of interest charged under instalment scheme?

Section B

8. Solve following system of linear equations graphically. 
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Determine the vertices of the triangle formed by the lines, representing the above equations and y-axis

9. The H.C.F and L.C.M of two polynomials 
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10. If  
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, find the A.P
11. The sum of the ages (in years) of a son and his father is 35 and the product of their ages is 150. Find their ages.
OR

A passenger train takes 2 hours less for a journey of 300 km. if its speed is increased by 5 km/hr from its usual speed. What is its usual speed?
12. A T.V set is available for Rs 19650 cash payment or for Rs 3100 cash down payment and three equal   annual instalments. If the shopkeeper charges interest at the rate of 10% p.a. compounded annually, calculate the amount of each instalment.
13. Draw a triangle PQR in which PQ = 5cm, (Q= 45° and QR = 5.4 cm. Construct the incircle of (PQR. Write steps of construction. 
14. An isosceles triangle ABC is inscribed in a circle. If AB= AC = 13 cm and BC = 10 cm, find the radius of the circle.
15. A rocket is in the form of a cylinder closed at the lower end with a cone of the same radius attached to the top. The cylinder is of the radius 2.5m and height 21m and the cone has the slant height 8m. Calculate the total surface area of the rocket.
16. Prove that  
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OR

Without using tables evaluate  
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17. Show that the points 
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EMBED Equation.3[image: image20.wmf])
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 are the vertices of a square

18. If (-2, -1); (a, 0); (4, b) and (1, 2) are the vertices of a parallelogram, find the values of 
[image: image21.wmf]a

and 
[image: image22.wmf]b

 
19. The data on mode of transport used by students to come to school are given below:

	Mode of transport
	Bus
	Cycle
	Train
	Car
	Scooter

	No of students
	1000
	1200
	450
	650
	300


         Draw a pie chart to represent the above information
Section C

20. Find the missing frequencies in the following frequency table, if the mean is 57.6

	Class interval
	0 -20
	20- 40
	40 - 60
	60- 80
	80 - 100
	100 - 120
	Total

	Frequency
	7
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	12
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	8
	5
	50


21. Prove that degree measure of an arc of a circle is twice the angle subtended by it at any point on the alternate segment  of the circle
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          In the following O is centre of the circle, prove that 
[image: image25.wmf]z

y

x

=

+


. 
OR

Prove that if a chord is drawn through the point of contact of a tangent to a circle, then prove that the angles which this chord makes with the given tangent are equal respectively to the angles found in the corresponding alternate segments.

Using the above theorem do the following
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In the given O is centre of the circle and
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. Find the values of 
[image: image27.wmf]x

 and 
[image: image28.wmf]y


22. Prove that in a right triangle, the square on the hypotenuse is equal to the sum of the squares on the other twos sides.

Using the above do the following

In triangle ABC, (B = 90°, BC = 6 cm, AC = 10 cm and CD = 9 cm. Find the length AD
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23. A man in a boat rowing away from light house 100m high takes 2 minutes to change the angle of elevation of the top of the light house form 
[image: image29.wmf]°

60

 to
[image: image30.wmf]°

45

. Find the speed of the boat.

OR

From the top of a building 15 m high, the angle of elevation of the top of a tower is found to be 
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.From the bottom of the same building, the angle of elevation of the top of the tower is found to be
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. Find the height of the tower and the distance of between the tower and the building.

24. A cylindrical bucket of diameter 28 cm and height 12 cm is full of water. The water is emptied in to rectangular tub of length 66cm and breadth 28 cm. Find the height to which the water rise in the tub.
25. The Annual income of Mrs. Shah is Rs 200,000 exclusive of H.R.A. She contributes Rs 500 per month to her P.F and Rs 8000 as annual premium for her LIC. Calculate her annual income tax liability. 
For women (below 65 years)
Assume the following for calculating the income tax:

	Rate of income tax   
	

	         Taxable income
	Income tax

	i) Up to  Rs 135,000
	No tax


	ii) From Rs 1350,001 to Rs 150,000
	10% of the amount exceeding Rs 135,000

	iii) From 150,001 to Rs 2,50,000
	1500 + 20% of the amount exceeding  Rs 150,000

	iv) Above Rs 250,000
	Rs 21,500 + 30% of the amount exceeding Rs 250,000

	
	

	Education Cess   2% on the payable tax
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